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Ql.

R
Diagram NOT
accurately drawn
[2cm
Q
4 cm
-
P — T S
< 10 cm »
PQRand PTSare straight lines.
Angle PTQ= Angle PSR= 90° 3
QT=4cm A . <Q+A)L‘
RS= 12 cm ;
TS= 10 cm 2
(a) Work out the area of the trapezium QRST. - (4 + |2_) X lo

(b) Work out the length of PT. Le€ PT =X

Hs PRQT are S.iml.lin/ Reak o o€ Cb.’fCSfcMJ;ns Sides = ‘Z-C(-

PRS = 30
~ = c+10)x L

1
31 = x40 5_ .cm
3y -2 = IO -

- 10
Z (Total for Question is 5 marks)



Q2.

Diagram NOT
accurately drawn

ABCD and AEFG are mathematically similar trapeziums.

AE =5cm QaE’O of Co(‘r‘eS{'dﬂal:ﬂj Sides = ig:ix
EF =12 cm e X 2%
B= Lom AE = §x3 = IS = 2.
2 2-
(a) Work out the length of AB.
........................................... _7'( cm
(2)
Trapezium AEFG has an area of 36 cm?.
(b) Work out the area of the shaded region. :
|«r:|c éf“(\e—z;*ﬁ AlCA 4 S- ......... cm?
ol 36 " (%.))_ ...............................................
(3)
= 3C(x 8
<4 (Total for Question is 5 marks)
- ?‘ c,hi S haded ﬂCS“os\
= i -3¢
T 4 emt
Q3.
M
B
L
12cm
A
S5cm
D 6 cm C P 9 cm N

Diagram NOT accurately drawn

Quadrilaterals ABCD and LMNP are mathematically similar.



ﬂaLD cf C‘orru(’uﬂ/llﬂj S,,L:;:
Angle A = angle L

= G s
Angle B = angle M - .(
Angle C = angle N = 2 %3
Angle D = angle P
(a) Work out the length of LP.
~ _ ~
Lp = S x3 = %:_“{ 7') cm
"B e
(2)
(b) Work out the length of BC.
BE T 12 %2 = 8 § e
S
(2)

(Total for Question is 4 marks)

Q4.

Diagram NOT
accurately drawn

AS’I Cgb Sqi.h?\(i«f
CAE
S;d e ko

..,

4

0

g :
= 3

e®

A

ABC and CDE are straight lines.
BD and AE are parallel.
BD =12 cm, CD =18 cm, DE = 6 cm.

Work out the length of AE.
AE = 12 X f: e Pl 000 mtesiessiesiessise i ”o ............... cm
i

(Total for question = 2 marks)



Q5.

A
Diagram NOT
accurately drawn
<“+“15cm
5 cm : ’
Qs AGE Similas
AcbD
Side ealic 105 26
Ce 6 cm — D . It 4
ABC and AED are straight lines. , _ - 5 =
BE and CD are parallel. AE - & x 2 - "Zf_" = .25
BE = 1.5 cm.
CD =6 cm. ~— -
AD =5 cm. Ed= AD—-AE = s ). 2§
Calculate the length of ED.
3'7r ............. cm

(Total for question = 3 marks)

Q6.

Diagram NOT
accurately drawn

Area =4 cm?

A 2(x—1)cm B

D *-1)cm E

Triangles ABCand DEFare mathematically similar.

The base, AB, of triangle ABChas length 2(x- 1) cm
The base, DE, of triangle DEFhas length (x* - 1) cm

The area of triangle ABCis 4 cm?
The area of triangle DEFis Tcm?



ABc '
A

Prove that s peF Similar
T=x*+2x+ 1 Sde rbe 2(x 1) (x2-1)
= 2Cx=-1): (x+D(2-1)
= 2 16Gc+l)

Afi‘\ (‘u.k—w i 21 g (.\ + l\l
= 4 1 (x+)"
Larcse Aree. T

N

2
Small aree X _(_’_‘_'tﬁ

4-

~
T = 4 x (x+0
4-
T o gy 2+
7 = (x+1) = =2 +X

(Total for Question is 4 marks)

Q7.

ABC is a triangle.

AE .
AS AGZ T tot™

/ 4 \ Diagram NOT
Sihe Rato 4 110

o~

accurately drawn
2 °¢ 4 cm 5.8cm
- e

P&
= Ac-RE
D

\ Ec
> E -
"S.. - 1\7
6cm
Bc = S X§ - 12-5¢m
&
B > C

D is a point on AB and E is a point on AC.

)}

DE is parallel to BC. P{ ."\mgh-,r e ’é éra(: e,z,'\ i

—_—

- 6 +5S+ B 1 412.85 = 32.2cm



AD=4cm,DB=6cm, DE=5cm, AE=5.8cm.

Calculate the perimeter of the trapezium DBCE.

(Total for Question is 4 marks)

Q8.

Steve has a photo and a rectangular piece of card.

< V0ecm———»

Diagram NOT
adid accurately drawn

i & ‘ - ‘(‘(r
The photo is 16 cm by 10 cm. Side e o f (H\.,h and card le S e

The card is 30 cm by 15 cm.

B 1o %is = 2.5
Steve cuts the card along the dotted line shown in the diagram below.
Y <xcm» _ )
A E w=16x3
i 2
|
i :
15cm i 3 = 24 S
E X = o6 — ‘3
v ! =
<4xcm» . %0 ~‘24’
Steve throws away the piece of card that is 15 cm by x cm.
The piece of card he has left is mathematically similar to the photo.
Work out the value of x. 2
e - A Cm

...........................................................

(Total for Question is 3 marks)



